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General Instructions :

1.
2.

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10 four
alternative choices have been provided of which only one is correct. You have to
select the correct choice.

1.  Which of the following is not a quadratic equation :
(A) (x—2)2+1=2x-3 B) x(x+1)+8=(x+2)(x—2)
(CQ) x(2x+3)=x2+1 (D) (x+2)3=x3—4

2. For what value of p are 2p+1, 13, 5p —3, three consecutive terms of an A.P. ?
(A) 2 B -2 C© 4 (D) -4

3. A tangent PA is drawn from an external point P to a circle of radius 3,/2 cm such that

the distance of the point P from O is 6 cm as shown in figure. The value of [J APO is

A
g
&
O 6 cm P

(A) 30° (B) 45° (©) 60° (D) 75°
4.  The maximum number of common tangents that can be drawn to two circles intersecting

at two distinct points is

(A) 1 (B) 2 © 3 (D) 4
5. In the given figure, O is the centre of the circle. If PA and PB are tangents from an

external point P to the circle, then [0 AQB is equal to

A
P <] 80° Q

B
(A) 100° (B) 80° (C) 70° (D) 50°

6.  The probability that a leap year has 53 Sundays is

N

3
® 5 © (D)

1
(A) - 7
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10.

11.

12.

13.

14.

15.

16.

If the angle of depression of an object from a 75 m high tower is 30°, then the distance
of the object from the base of tower is

(A) 253 m (B) 503 m (C) 7543 m (D) 150 m

The perimeter of a quadrant of a circle of radius 5 em is

(A) 35cm (B) 55 cm (©) 75cm (D) 12,5 cm

If a solid right circular cone of height 24 cm and base radius 6 cm is melted and recast
in the shape of a sphere, then the radius of the sphere is

(A) 6cm (B) 4cm (C) 8cm (D) 12 cm

In the given figure, AA; =A A, =A,A;=A;B. If BjA||CB, then A, divides AB in the
ratio

(A) 1:2 B) 1:3 (C) 1:4 (D) 1:1

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

The sum of circumferences of two circles is 132 cm. If the radius of one circle is 14 cm,
find the radius of the second circle.

For what value(s) of k, the equation x2—2kx —k =0 will have equal roots ?

Find the 10t" term from the end of the A.P. 4,9, 14, ........ 254.

A point P is at a distance of /10 from the point (2, 3). Find the coordinates of the point
P if its y coordinate is twice its x coordinate.
OR

Find the coordinates of the point B, if the point P(—4, 1) divides the line segment joining
the points A(2, —2) and B in the ratio 3 : 5.

If the points A (4, 3) and B(x, 5) are on the circle with centre O(2, 3) ; find the value
of x.

A bag contains cards numbered from 2 to 26. One card is drawn from the bag at
random. Find the probability that it has a number divisible by both 2 and 3.
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17.

18.

19.

20.

21.

22,

23.

How many lead shots, each 0.3 cm in diameter, can be made from a cuboid of dimensions

2210
9cm X 11 cm X 12 cm. ﬁJSG’W=7H

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that AB+CD=AD +BC.

D R C

SECTION - C
Question numbers 19 to 28 carry 3 marks each.
Solve for x :
1 2 4 ;o ox#z-1,-2,—4

x+ 1 x+2=x+4
OR

Solve for x :
9x2—3(a+b)x+ab=0

Determine the ratio in which the line 3x +y—9=0 divides the line segment joining the
points (1, 3) and (2, 7)

The area of a triangle whose vertices are (=2, —2), (=1, —3) and (x, 0) is 3 square
units. Find the value of x.

How many terms of the A.P. 78,71, 64, ...... are needed to give the sum 465 ? Also find
the last term of this A.P.

In the given figure, diameter AB is 12 cm long. AB is trisected at points P and Q. Find
the area of the shaded region.

k””/'///////lh. o
WUy

OR

A chord of a circle of radius 12 cm subtends an angle of 120° at the centre. Find the
area of the corresponding minor segment of the circle. (Use w=3.14)
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24.

25.

26.

27.

28.

Water is flowing at the rate of 5 km/hour through a pipe of diameter 14 cm into a
rectangular tank, which is 50 m long and 44 m wide. Determine the time in which the
level of water in the tank will rise by 7 cm.

In the figure, OP is equal to the diameter of the circle. Prove that ABP is an equilateral
triangle.

A
) \P
B

OR

In the figure, AB and CD are two parallel tangents to a circle with centre O. ST is the
tangent segment between two parallel tangents touching the circle at Q. Show that

U SOT =90°.

A P s B
O Q
C T D

The shadow of a tower standing on a level ground is found to be 40 m longer when the
sun’s altitude is 30° than when it is 60°. Find the height of the tower.

Draw two tangents to a circle of radius 3.5 cm from a point P at a distance of 6 cm from
its centre O.

All the three face cards of spades are removed from a well - shuffled pack of 52 cards.
A card is then drawn at random from the remaining pack. Find the probability of
getting

(a) a black face card
(b) a queen
()  a black card
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29.

30.

31.

32.

33.

34.

SECTION -D

Question numbers 29 to 34 carry 4 marks each.
Prove that the lengths of tangents drawn from an external point to a circle are equal.

A person on tour has Rs. 360 for his daily expenses. If he extends his tour for four days,
he has to cut down his daily expenses by Rs. 3. Find the original duration of the tour.

200 logs are stacked in the following manner : 20 logs in the bottom row, 19 in the next
row, 18 in the row next to it and so on. In how many rows are the 200 logs placed and
how many logs are in the top row ?

An aircraft is flying at a constant height with a speed of 360 km/hour. From a point
on the ground, the angle of elevation at an instant was observed to be 45°. After
20 seconds, the angle of elevation was observed to be 30°. Determine the height at

which the aircraft is flying. (use 3 = 1.732)

OR

A boy 2 m tall is standing at some distance from a 30 m tall building. The angle of
elevation from his eyes of the top of the building increases from 30° to 60° as he walks
towards the building. Find the distance he walked towards the building.

The area of an equilateral triangle ABC is 17320.5 cm?. With each vertex of the triangle
as centre, a circle is drawn with radius equal to half the length of the side of the triangle.

Find the area of the shaded region. (use m = 314and /3 = 1.73205)

The internal radii of the ends of a bucket, full of milk and of internal height 16 cm, are
14 cmand 7 cm. If this milk is poured into a hemispherical vessel, the vessel is completely
filled. Find the internal diameter of the hemispherical vessel.

OR

A right triangle, whose sides are 6 cm and 8 cm (other than hypotenuse) is made to
revolve about its hypotenuse. Find the volume and surface area of the double cone so
formed.

-00o0-
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©og - A
Ul 1910 W 9 Uk 1 37k hT 1 U9l 1 9 10 ¥ 9 Uk o faw, o fawmeu fou &,
o8 | FaeT U & W& &1 MUk Wel foehed T AT AT § |
1. = H 9 % e fgema g 7@ 2
(A) (x—2)2+1=2x-3 B) x(x+1)+8=(x+2)(x—2)
Q) x(2x+3)=x2+1 (D) (x+2)3=x3—4

2. p% R AR & fAW, 2p+1, 13, 5p—3 TF A.P. % I FHANK Ug T ?
(A) 2 (B) -2 (C) 4 (D) -4

3. = O R 5 3v2 om 90 99 W TH 9 foig P E w9l W PA 39 YR @it T §
O ¥ 9t foig P 1 gt 6 om T, S T o7hfa o <oien man €1 @@, JAPO HI9H © :

A
m@ﬁ
O 6 cm P
(A) 30° (B) 45° (C) 60° (D) 75°

4. < fu fogell M gfi=c & A T gai W Gt S b Al WA T9%1 @iell it
31feehad T@ © ¢
(A) 1 (B) 2 < 3 (D) 4

5. A EE AP H, O I HH=E 7| AR PA IR PB U el foig P A I W i T w9t @t
g A 0AQBRIR © :

A
P <]80° ‘Q
B‘

(A) 100° (B) 80° (C) 70° (D) 50°

6. Weh 31y (eftg) a9 § 53 e B &t iferehar & :

N w
—~
)
N
N

1
(A) - B) - ©)
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10.

11.

12.

13.

14.

15.

16.

AfE 75 m Sl b HIAR & I F 4y W feorq ot oeg o1 31aHA v 30° T, 1 59 a%g b
HHR & STIR T g T

(A) 253 m (B) 503 m (C) 7543 m (D) 150 m

ﬁm%cmmé?ﬁé?@a@aﬁaﬂqﬁqw%:
(A) 35cm (B) 55 cm (©) 75cm (D) 12,5 cm
7fg 4 24 cm IR TR 5591 6 cm 9T Tk el IR Wigh b1 TAoeieik U el & &9 |

T ST, T 39 Tl i B ©
(A) 6cm (B) 4 cm (C) 8cm (D) 12 cm

& g APl H, AA; =A A, =A,A,=A,B | I B;A||CB & ol AB &l A, T a1quma
fawifsa s @

AT Al A, A; B

(A) 1:2 B) 1:3 (S 1:4 (D) 1:1
Q|us -

Ul 11 W18 § § Yok 2 ekl AT g

1 gl AR %A 132 om F1 A TH I A BRI 14 om B, I TR I A1 B 9@
HIFST |

k & ford/foa AM() & fag, |etor x2 — 2ky — k=0 % SRR o & ?

AP.4,9,14, ... 254 #H, 3AfqH g€ ¥ 109 9 J1d ST |

Fr fag P g (2,3) 9 10 # 30 W feord B foig P o Ficwier 9@ wifsw) afe soa
y-Feene S x-S & G T

Srar
fig B & fdwies 9 ifsig, afs fog P(—4, 1) g3l A2, —2) 3R B &I fia Al TEEs
I 3:5 % UM B fauifsd e g1

afg foig A (4, 3) R B(x, 5) %= O(2, 3) a0 Tk ga R feord € @ x 1 79 91 o |

T It | s, 2 9 26 I Sifchd 1S W T 39 I B W T FIS Agfowsd €9 F Fahren
ST & | 3Heh! WIfeehal 1 ifeie foh 39 w1 W fodt den 2 2R3 i 9 faams grft
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17.

18.

19.

20.

21.

22,

23.

fomms?i 9 cm x 11 cm X 12cma1é@ﬁﬁé€wqqﬁ 0.3cmamawﬁm=fmﬁ1%1ﬁw§

.. 0.2 0
ST Hehdl © ? = WWWG‘QE

3Mhid H, IgYst ABCD T& gd o 9o Gien 71 ©1 fag *ifsie ff AB+CD=AD +BC
gl

D R C
S Q
A P B
@ug - |
Tyl 19 | 28 § | U 3 i hT &1

1 N 2 4
x+ 1 x +2 x +4

x#-1, =2, —4 I x % AT g HIST)

3T
9x2—3(a+b)x+ab=0 I x & faC T HIfTT|

fraif wifse fof @ 3x+y—9=0 fogsl (1, 3) 3R (2, 7) F foam a1 T@Ee & &g
3 | oo et &2

TSt (=2, —2), (=1, —3) 3R (x, 0) AT Teh AT T &%t 3 7 HTE €1 ¥ FHI(FH) HHE A
HIT |

0T 465 UH FH & fAC, AP. 78, 71, 64, ...... & fohaq TS &) TEIHAT €2 TH AP, HI
sifad ag oft 71 ST

@ g THfa |, AW 12 cm T &1 AB 1 foig P 3R Q wwfwnfoa #wd €1 wwiferd & &
& 1A T |

areren
5591 12 co 911 W g Yt SiAT g W 120° 1 IV AR H §1 39 I & G Y
JAGE T HAFHA TN BT (77 =3.14 T TAM HITS0)
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24.

25.

26.

27.

28.

A 14 cm 9T T 9129 | T BIPAIHNTISEE T 5 TRt/ 5eT ol T A 9 T
W@ 71 Al I8 & 50 m e 3R 44 m =S &, q I8 T FEifa wifve, e 9 &1 'R
7 cm S 33 S |

3Rt H, OP 9 & =9 % IR ¢ fag HIT fF AABP T qHaTg 1y 1

A

VA
/

B

3eqar

3mpfa H, AB 3R CD %= O 911 99 W 31 IHIaR TI91 W@ €1 ST Ueh 317 Tq9t 3@ ©, < 9
I Q W T HIt T WY fF 0SOT=90° ¥l

A P s B

I R WS TH HAR St WSE S Aals 3 1 AT 30° TH W 39 THY H WSE 9 40 m
3fYer & T I8 SIaisl 60° o1 | HIFR ot SETE 1 Shifer |

5591 3.5 con 161 T I R 3T b O T 6 om T g R Feera foig P& &1 oot Y wiife |

3131 YRR 9 el T8 52 ANl ot Teh TG0 H 9§ ZHH o 41 B 1S el U Sd & | I Hre
T Y T FIE Agresh &9 § Hehren siar &1 F= um & 6t wifaekar 9 sife

(a) T I &HH IS
(b) TH ™
(c) T I HIS
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29.

30.

31.

32.

33.

34.

Qug - T
YAl 29 | 34 W A Ucleh 4 3l T )
g wifere fo foreht aredt foig @ o W wfi=h 7 oot Yaneti &) darsal s gt 2 |
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3T

2 m ST ATl Tk AEH 30 m S Teh oA § $9 g0 W@l §1 5 98 9o & 3R Ferdl
T, ST 3AT@ ¥ Wor & TIRE o1 S5 01 30° W 60° 81 ST &1 SHh g1 Wold i 371 =it
<& 3 FT

T 99ag st ABC &1 &5%et 17320.5 cm? 1 30 IS & gceh 3 ol g O oL
TS St ol ot TR TalTg o SRIeR i 321 T, g Wi ST &, SHE STrehfd | < 7o

T DHifehd &7 1 FAFA TG BT (=314 3R /3 =1.73205 1 FART Hiferq)

QH@ﬂﬂﬁ?ﬂﬁﬁ?ﬁlﬁ%cmﬂﬁﬁ@ﬁ@%f&ﬁﬁﬂﬁﬁ?ﬁ@ﬁﬂcm@?7cm
g1 it 39 qY & T AFNAER a0 | S ST, @ 98 96T g0 39§ 9% SO |
STHMATRR o ol ST SATE J1d hifsId |

3eqar

6 cm 3R 8 cm S3Tl (ol & Iffa) ATt Teh AHERIUT YT bl IHek ol o TR S[HTAT STl
¥ 9 YRR 594 1t fg-3igp o1 Tae 3iR g8 &l J1d hifeTg |
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